Baldivis Secondary College							
YEAR NIN 20 ⁻							
17 730 09							
Baldivis Secondary College							
PLEASE ORDER ONLINE AT <u>www.campion.com.au</u> USING "VDR4" AS YOUR CODE BEFORE Friday 16th December 2016							
BEFORE Friday 16th December 2016 OR SEND YOUR COMPLETED LIST TO CAMPION VIA DETAILS BELOW ALL ORDERS MUST BE PREPAID							
PREPACKAGED DELIVERY SERVICE							
STUDENT GIVEN NAME(s) STUDENT SURNAME							
DELIVERY ADDRESS (For easy Delivery, Parent Name & Work Address preferred)							
SUBURB POST CODE PARENT/GUARDIAN MOBILE/PHONE NUMBER Image: Comparison of the second seco							
CREDIT CARD PREPAYMENT - WILL BE PROCESSED AT TIME OF ORDER ENTRY							
MasterCard Visa Card No.:							
Expiry Date: Cardholder's Name:							
Signature:							
▼ TEAR OFF SLIP - PLEASE RETAIN ▼							
HOME DELIVERY							
Your home delivery order will be dispatched the week ending 13th January 2017.							
Please note: Any orders being returned to Campion by mail must be received two days prior to the cut off date at the top of this page to ensure your order does not incur a late fee.							
CAMPION							
A A MARTINE N ampion Education (Aust) Pty Ltd B.N.: 33 074 318 602 Kembla Way, WILLETTON WA 6155							
w.campion.com.au - Email: wasales@campion.com.au							

RESOURCE LIST INSTRUCTIONS

HELPING YOUR SCHOOL / COLLEGE

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

OPTIONS TO ORDER

HOME DELIVERY

 Order online at <u>www.campion.com.au</u> before the date on the front of your resource list to guarantee supply of all items. All online orders must be prepaid.
 We recommend you use a Business address for delivery as all parcels must be signed for. If you are not home to receive your parcel it will have to be collected from the relevant Post Office.

• Boarders

If you wish your order to be delivered to the school, please tick the 'Boarders' box on the front of your list (where applicable) and put your boarding house address in the address field.

Late Orders

Orders placed online after the cutoff date are considered a late order and will incur a postage and handling fee of \$5.50 per item to a maximum of \$17.50.

Delivery of these orders cannot be guaranteed prior to the commencement of the school year.

While You Wait Service (Malaga or Willetton)

Please note long delays will be experienced in the two weeks prior to the commencement of the school year and availability of all stock lines cannot be guaranteed at this time. All back ordered items will be posted and a delivery fee will apply.

Have a Question?

• Please go to www.campion.com.au for further information on account based ordering, store locations, digital support and other general enquiries.

REFUNDS	TRADING HOURS		
Refunds will be given on TEXTBOOKS/WORKBOOKS ONLY in NEW condition up to February 2017 or 2 weeks after the purchase date (whichever is later). We will gladly refund or exchange any goods deemed faulty from	8:30am -	rdays - 2.00pm	
the manufacturer.	14th Jan 2017	- 4th Feb 2017	

INSTSECHDWA

Please tick the items required in the box provided \downarrow

	•	•		•		
Office Use	Description	ltem No.	ltem Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	SCHOOL RESOURCES					
	PERSONAL ITEMS FOR STUDENT USE					
P56095	Pen Ballpoint Cap Type Blue Medium	1		10	0.35	3.50
P56096	Pen Ballpoint Cap Type Red Medium	2		10	0.35	3.50
P56094	Pen Ballpoint Cap Type Black Medium	3		10	0.35	3.50
P50006	Pencil (HB) Micador Essential	4		10	0.35	3.50
P50208	Pencils-Coloured Columbia Pkt 12's	5		1	2.30	2.30
P50113	Markers Faber Project Wallet 12 Assorted	6		1	2.95	2.95
P50463	Ruler 300mm Plastic Flexi	7		1	1.00	1.00
P51353	Glue Stick Artline Purple 40gm	8		1	2.50	2.50
P58510	Eraser Plastic Pencil Large With Sleeve	9		2	0.40	0.80
P51371	Scissors Maped Black Handled 17cm	10		1	1.90	1.90
P51157	Highlighters Micador ECO Wallet Pack 4	11		1	2.95	2.95
P56240	Sharpener Pencil Barrel Single Hole (EL)	12		1	1.25	1.25
P52082	USB Pocket Flash Drive 16GB - NO RETURNS	13		1	12.95	12.95
P56353	Protractor 10 cm 180 4" Half Circle	14		1	0.45	0.45
P56328	Pocket Plastic 11 Hole A4 Pkt 10	15		2	1.15	2.30
P52830	Calculator Casio Scientific FX-82AU Plus II - OR -	16		1	32.95	32.95
P55285	Calculator HP Scientific HP-10s	17		1	24.45	24.45
P56390	Loose Leaf Refills A4 7mm Pkt 500 Reinforced	18		2	14.95	29.90
P56211	Handy Pouch Pencil Case 345mm x 140mm	19		1	2.95	2.95
P55097	Lever Arch File A4 Board	20		8	4.35	34.80
P56706	Marker Whiteboard Connector - Black	21		1	2.25	2.25
P56361	Notes 75 x 75mm 5 Pack Assorted Colours Year 7, 8 and 9 students iPAD Air or MINI – 16GB WIFI minimum / 32 GB preferred. If iPAD has 3 G capabilities (Sim Card is not to be used at school)	22		1	18.95	18.95
	10" Screen is recommended (Android does not work in our school environment (Samsung Tablet)					
P55442	CAD TECHNOLOGY Display Book A4 20 Pocket Black Refillable	23		1	1.95	1.95
P55449	DANCE Display Book A4 20 Pocket Red Refillable	24		1	1.95	1.95
	DRAMA					
P58647	ECO ACCOHide® Recycled A4 Notebook 120pg	25		1	2.95	2.95
P55442	Display Book A4 20 Pocket Black Refillable	26		1	1.95	1.95
	ENGLISH SPECIFIC					
P55492 P55536	Document Wallet FC Slimpick Blue Exercise Book A4 8mm 48 Page	27 28		4 5	0.95 0.85	3.80 4.25
	-					
	FINE ART					
P52001	Pencil (2B) Goldfaber	29		2	0.55	1.10
P56477	Spirax #534 Sketch Book A4 Perf Board Cover 20 leaf/40 pages	30		1	2.85	2.85
	FUN WITH FOODS					
P55554	Exercise Book A4 8mm 128 Page	31		3	1.80	5.40
				-		

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	HASS					
P55442	Display Book A4 20 Pocket Black Refillable	32		1	1.95	1.95
P55536	Exercise Book A4 8mm 48 Page	33		5	0.85	4.25
P50547	Earphones Ear Bud Headphones With In Ear Drivers	34		1	12.85	12.85
	HEALTH					
P55546	Exercise Book A4 8mm 64 Page	35		4	1.10	4.40
	INSTRUMENTAL MUSIC					
P56667	USB Pocket Flash Drive 8GB - NO RETURNS	36		1	8.50	8.50
P55907	Music Book A4 48 Page Feint & Staved	37		1	1.95	1.95
	JEWELLERY DESIGN AND TECHNOLOGY					
P56477	Spirax #534 Sketch Book A4 Perf Board Cover 20 leaf/40 pages	38		1	2.85	2.85
	MATHS SPECIFIC					
P55442	Display Book A4 20 Pocket Black Refillable	39		2	1.95	3.90
P55546	Exercise Book A4 8mm 64 Page	40		4	1.10	4.40
P56390	Loose Leaf Refills A4 7mm Pkt 500 Reinforced	41		1	14.95	14.95
	METAL TECHNOLOGY					
P55442	Display Book A4 20 Pocket Black Refillable	42		1	1.95	1.95
	MUSIC GENERAL					
P55442	Display Book A4 20 Pocket Black Refillable	43		1	1.95	1.95
	PHOTOMEDIA					
P56667	USB Pocket Flash Drive 8GB - NO RETURNS	44		1	8.50	8.50
P51421	Memory Card SDHC 4GB Class 4 SD Card - NO RETURNS	45		1	12.95	12.95
P55449	Display Book A4 20 Pocket Red Refillable	46		1	1.95	1.95
	SCIENCE					
P55536	Exercise Book A4 8mm 48 Page	47		4	0.85	3.40
	SYSTEMS TECHNOLOGY					
P55442	Display Book A4 20 Pocket Black Refillable	48		1	1.95	1.95
	VISUAL ARTS - DESIGN					
P56477	Spirax #534 Sketch Book A4 Perf Board Cover 20 leaf/40 pages	49		1	2.85	2.85
P52001	Pencil (2B) Goldfaber	50		2	0.55	1.10
	WOOD TECHNOLOGY					
P55442	Display Book A4 20 Pocket Black Refillable	51		1	1.95	1.95

Number of Boxes ticked:



Delivery, packaging & handling

\$8.00

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 15/10/16) <u>\$</u>